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1. Answer the following questions : ‘ 1x12=12

Tote Wal ez Sew fra s
Fill in the blanks :

T 318 9 A g

(a)

(®)

(c)

(d)

(e)

30T EDUC

The Indira Gandhi National Open University was established in

1 R AR S Reafogremm v 2ffSwt 41 T2 |
The name of the first secondary school of Assam is

TR 99 My [Rupemag A [

The concept of Populatlon Education” was developed by the
American Sociologist _____

W\WWWWWW Cﬂﬁfﬁ%ﬂﬁf%‘:ﬂ

Gestalt is a : word which means ‘whole’ or ‘total pattern’.
(1B o1 o IRy R e A Ty R’ -

The attention which is paid by an individual without any outside
interference or force is known as attention.

Al 9T IS WA TFCFA @RS TRFOOIR AR (I I8
J REEes avie 91 NI AN QI 27| -

In a polygon, frequencies are plotted on

wu\equ\wmmmﬁmw—_aem
Fo 9 F |

Give shiort answer in one sentence :

G5t I”/TC ©eF 77 2

Which Education Comrmssmn suggested the 10+2+3 structure- oE
education ?

@I Frw scel 10+2+3 B hafRg o Wﬂwﬁfi—»a

Who first .introduced the concept of Correspondence Education -
system ?

mmmﬂﬁmammmammaﬁﬁﬂ
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(i) Write the name of the first Open University in India. -
SRS AANA Y& vt W g

() What is logical memory ?
el S T Afes S oF @

(k)‘ “Interest is latent attention and attention is interest in action.”
Who said this statement ?

“TNZ TEICNT 7Y SR S A SNz FAeq syl e 1”2
g3 TSR @ e e

() Write the formula for finding out third quartile from group data.

WWWT@?W%%@@W%‘HI

2.  Write two aims of secondary education recommended by Secondary
Education Commission of 1952-53.

MR FrFR o7/ TF Spex-¢o Wmmﬁasﬁmwmﬂ SRR 77
sl REe

3.  Write two importance of vocationalisation of secondary education. - 2

SR Frers IREITIR 7Y SIrETRS! Srm B

4. Mention two salient features of Non-formal Education. ' 2

wmﬂ%qsﬁw 7Or et AN SrE |

5. Why distance education is important for the present society ? 2
TEA G A @ Y wwgedle.

6. ‘Physical education leads to a healthy life.’ Give two reasons. 2

IR BreE @B I3 Gl A6 @@ — 7o I

" 7. Write two importance of women empowerment. 2 = 2

 f3E AR 7hY AEe! S 3 |

8.  Write two subjective factors of learning. ' : _ 2

fRreig 707 [ERY A ASrER 56 |
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10.
11.

12.

13.

14.

15.

16.

17;

18.

Write briefly the two types of law of exercise in learning. 2
s 72 o] SpleW Sife’ [Raca see &
Write two marks of good memory. 2

i “gfol 7oy wR Raea fo

Mention two points showing the relationship between education and
mental hygiene. : 2

s o IRE 2 [REms T d iz gor e S )

Mention two importance of statistics in education. 2.

fPrere sifruiRemr 707 o9 Sme ¥

Find the mean and median from the following data : 1+1=2
woro Il SAPTR [ 1T s W [efm 1 ¢

42, 28, 34, 52, 65, 71, 50, 56

Write brleﬂy the suggestions given by Kothari Comrmssmn regarding
structure of secondary education. 4

M e MR TICE IR SNl SRR <[ 3R 5o fral|

Write four provisions of the Secondary Education Act of Assam (1961).
4

wpT Mghie s wigss (1961) Brad 51 e R o

Discuss four merits of Open Education. 4

& PrER 51R01 RY DA 9 |

What is Env1ronmenta1 Education ? Write three prmc1ples of Environmental
Education. 1+3 4

s Fret 1 @iE 2 SR Frer BRADr aits T =11

Discuss four characteristics of learning. 3 » 4

frFaR 50T D) BTG |
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19. 'Discuss the four stages involved in the process of memory. 4

=S ifEFaR Fore wive 5190 «4 A T KW A1 31|

20. Discuss four characteristics of a mentally healthy person. 4

NBIFOIRE AT @GIF aG=R AT 5//96! T SCeTvAl 30 |

21. Discuss the role of school in promoting proper mental health of students.
4

Fredi Teige TRt TR Rere [ efi SieEnat =41
Or/WW.-‘

“A mentally healthy person is also in need ‘of mental hygiene.” Give
reasons.

e T O T IRt T TR cend e of

22. What is histogram ? Draw a histogram from the following distribution

table : (Use graph paper) 1+3=4
s oa B @W9WWWGWWWWW%‘TW (T
- TS R AN
Class Interval Frequency
(e (@t
BO = B .....cornsamesisssmsmssmmssss simmmassssssss 2
{1 T R —. 4
BU = BY oersrereunensanssmmenmicinisisisssssssssason 5
B~ B9 oo musvansepseseanenomaeimasesiasisnasin 8
B0 = 49 et 12
30 = 39 e 7
90 = 29 .. cxussemimmms s s 6
p 1 R 1 D ——— 4
¢ SR > DR R S 2

30T EDUC . 151 . " Contd.



Or/ 5dqrt

What is a Bar Diagram ? Discuss the different types of Bar Diagram with
examples. 1+3=4

we A 8 bd I @I T W%WW«WWWI

23. What is Quartile Deviation? Write three advantages of ‘measure of
Quartile Deviation. 1+3=4

b‘“%ﬁﬁﬂlwm? Qﬁiﬁwﬁﬁﬁmﬂﬂﬁ fofabr ARkt e

24. What is Population Education ? Suggest four measures for imparting

Population Education in educational institution. 2+4=6
RN R IS m?ﬁw@ww\mﬂmwm 5If35T s
9O |

Or/ Wﬂ?f

What is Value Education ? Discuss the need and importance of Value
Education. ‘ 2+4=6

mzﬁwﬁs?waWWWQ@ﬁWW|

25. What is meant by insightful method of learning ? Write the educational
significance of insightful method of learning. 2+4=6

ety Sree =Tafs JEI B got e Frees soed wwfes oifies et R
fer |
. Or/ 923t

What do you mean by Learning by Coriditibning ? Write four educational
implications of conditioning method of learning. 2+4=6

COEETE wﬁwqaﬁﬁ—ﬁﬁswﬁﬁrw«ww%ﬁsﬁﬁm
acaifTe @ 10|

26. What is forgetting ? Discuss four physical causes of forgetting. 2+4=6
S wIe @ier e RFgfsx o7 o7 R 3t iz oiRel 3961 <=1
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Or/ 93 '. !

What is Attention ? .Discuss the importance of Attention and Interest in
* education. . ; 2+4=6

T P @I ? BT SIS S Siees GG T Sl 3 |

27. What is Median ? Compute Median from the following distribution table :

: : 1+5=6
WG FIE (@ICE 2 wore vl Rerem oifFe «q v [efa = 8
Class-Interval ~ Frequency
((=R-wrEare) [ARE@RS) ¢
60 =64 ...o.eoreeeeerererereseesrreneas i S
55259 c.eeeeereeeseeeeeeseeenseeeees 4
07 S 5
A5 49 oo 8 .
A0=44 cooioeeeeeeeee e 10
35239 oo 12
10 8
25229 oo raseean 5
0 s R 2
g L5701 SO 2
g (0 1 SO 2
N =60
X
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